
R2410 Malaga 2015 Sp
1. Seite

Belső használatra !

III.

I.

6

7

3490-002A

1982-019

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

13

2001-111
M6x20 Hf bk csavar

1

16
5600-052

8400-137A
2. Seite

M6x12 Df csavar
2001-038

6152-1190

98700-094A

144911-043A

Product.: Lang

II.

86152-1189

2

4

5

2001-015

II.

6536-001A

M5x6 Hernyócsavar

5131-001B

5135-085A

2. Seite

2001-017

5025-003A

M5x8 Sf csavar

M5x6 Bkny hernyócsavar
2001-015

15

III.



Product.: Lang

2. Seite
Belső használatra !

195633-029B

24

23

2001-106
M5x16 Hlf csavar

1982-001

1982-011

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

225833-023A

17 5611-048

21 5311-254A

23 1982-011

255540-054A

5611-049 18

2001-106
M5x16 Hlf csavar

M8 Rugós alátét
2003-020

M8 Hl Anya
2002-007

24 1982-001241982-001

27 6311-140

22

261982-001

246611-004A
205311-253B

2001-106
M5x16 Hlf csavar

5833-023A

R2410 Malaga 2015 Sp



Product.: Lang

3. Seite
Belső használatra !

30 6081-701A

28286081-699

29

29 6081-700A

315490-020A

Feuerraumauskleidung
(9900-892)

6081-699            2 Stück
6081-700A         2 Stück
6081-701A         1 Stück

1. 6.
Reihenfolge:

Lage des Feuerablenkrahmen

1.

5.

3. 6.

4.

2.

6081-699

6081-700A

R2410 Malaga 2015 Sp



Product.: Lang

4. Seite
Belső használatra !

6

7

3490-002A

1982-019

2002-007

M8x25 Hlf csavar

M8 Hl anya

344111-016

324111-001

35

1982-019

2001-062
M8x16 Hlf csavar

2002-007
M8 Hl anya

2001-065

33

11

127911-632A

6536-017

2001-053
M6x35 Hlf csavar

106152-1191

6152-244 R2410 Malaga 2015 Sp


